Physics 430 – Winter 2010 – Reading Quiz for Lab 3
Name: _________________________________

Each question is worth 5 points

1. Are you physically present in the lab right now? 
(Circle one)    Yes     No

2. Did you do the reading assignment for today? 
(Circle one)    Yes     No

(Typically this means at least 20 minutes looking over the assigned laboratory.)

Here’s some information that was given in today’s lab.

This is the “wave equation”: 
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(Eqn 3.1)
It is a partial differential equation, but can be turned into an ordinary differential equation by assuming a solution of the form 
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(Eqn 3.2)

The new equation for g is: 
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(Eqn 3.3)
3. T/F: The solution of Eqn 3.3, g(x), when combined with cost as in Eqn 3.2, will give you all solutions of Eqn 3.1
a. true

b. false

4. If the forcing function, f(x), is set to zero, the lab manual claims that an eigenvalue equation results from Eqn 3.3. Briefly explain how that is the case. (No more than 2 sentences.)
_1324970892.unknown

_1325060745.unknown

_1324970778.unknown

